
SRMC / SRMCT
SOLAR RETROFIT 
SHORT MODEL

SRMP 
SOLAR RETROFIT 
CANOPY MODEL

SRML
SOLAR RETROFIT 
LONG MODEL

SRMCP
SOLAR RETROFIT 
COPLANAR MODEL

FACADE MOUNTING SYSTEMS FOR PV MODULES

Solar Retrofit Sagl

Viale Verbano 7 - 6602 Locarno Muralto (CH)

Tel. +41 (0)91 7519641 - Mobile +39 335 6971695 - Fax +41 (0)91 7515221

www.solar-retrofit.ch - lanteri.e@solar-retrofit.ch

SRMCPB
SOLAR RETROFIT 
COPLANAR MODEL

SRMCPA
SOLAR RETROFIT 
COPLANAR MODEL



60°

10
50

90860

30°

45

60

17
2

8

1468

60°

30°

45

Product | 1

PRODUCT SHEET

Support SRMC

Material:		  Anodized aluminium
Sizes:		  908x1050mm
Thickness:	 60x45mm
		  45x45mm

Support SRMCT

Material:		  Anodized aluminium
Sizes:	 1468x1728mm
Thickness:	 60x45mm 
	 45x45mm

5
8

0

30
°

90860

45

30°

Support SRMP

Material:		  Anodized aluminium
Sizes:	 908x580mm
Thickness:	 60x45mm 
	 45x45mm

Sizes and inclination depend on the PV module used and on any special customer requirements.



60

17
2

8

1468

60°

30°

45

Product | 2

PRODUCT SHEET

19
75

908

30°

90°

60

45

Support SRML

Material:		  Anodized aluminium
Sizes:		  908x1975mm
Thickness:	 60x45mm
		  45x45mm

Sizes and inclination depend on the PV module used and on any special customer requirements.

13
0

0

60 125

Support SRMCPB

Material:	 Anodized aluminium
Sizes:	 125x1300mm
Thickness:	 60x45mm 

60

45

80°90°

10°

256

10
0

0

Support SRMCPA

Material:		  Anodized aluminium
Sizes:	 256x1000mm
Thickness:	 60x45mm 
	 45x45mm



PRODUCT SHEET

48

82

3
0

5
0

3
0

6030 3052 30

5
0

120

ZANCA 90° 
FISSAGGIO ALLA PARETE

4

Ø 12

8
0

90°

65

ZANCA 60° 
FISSAGGIO ALLA PARETE

ZANCA LATERALE
FISSAGGIO ALLA PARETE

ZANCA CENTRALE
FISSAGGIO ALLA PARETE

65

4

4

4

8
0

60°

Ø 12

ZANCA 10° 
FISSAGGIO ALLA PARETE

4

8
4

30

6
5

10°

ZANCA 30° 
FISSAGGIO ALLA PARETE

4

97

8
8

30°

Ø 12

Ø 12

Ø 12 Ø 12 Ø 12

Product | 3

WALL MOUNTING
BRACKET 30°

WALL MOUNTING
BRACKET 10°

WALL MOUNTING
BRACKET 60°

WALL MOUNTING
CENTRAL BRACKET

WALL MOUNTING
BRACKET 90°

WALL MOUNTING
LATERAL BRACKET

SRMCPASRMP / SRMCPA SRMC / SRMCT 

SRMP / SRML

SRML

SRMCPB



78
78

R60

Ø7

Ø9

47
.5

47.5

L

L

L

Ø7

R60

Ø9

95
= =

6 20

Ø
12

0Ø9
Ø7

9
5

=

=

5 4

6 20

6 20

4

4

M
12

120

PRODUCT SHEET

1 11

2 22

3 33

Z11

Z22

Z33

Product | 4

Central support

Lateral support

Corner support

Threaded stem

Support SRMCP

Material:	 Anodized aluminium EN AB 44100
Brackets:	 AISI 304
With:
- M12 stainless steel AISI 304 threaded stem ( L 120 mm - others L on request)

- M6  stainless steel AISI 304  screw
- nr. 2 M12 stainless steel AISI 304 hexagonal nuts
- nr. 2 M12 stainless steel AISI 304   washers

Brackets



PRODUCT SHEET

1400

16
10

Product | 5Indicative data sheet. Sizes depend on the PV module used.

Lateral protection for model SRMP

Material:		  Anodized aluminium
Sizes:	 838x479x20mm
Thickness:	 2mm

Bottom protection model SRMP

Material:		  Anodized aluminium
Sizes:	 1648x873x20mm
Thickness:	 2mm

Lateral protection for mod. SRMCT

Material:	 Anodized aluminium
Sizes:	 1400x1610x20mm
Thickness:	 2mm

Bottom protection for mod. SRMCT

Material:	 Anodized aluminium
Sizes:	 1013x1740x20mm
Thickness:	 2mm

Bottom protection for model SRMC

Material:	 Anodized aluminium
Sizes:	 1648x1038x20mm
Thickness:	 2mm

Lateral protection for model SRMC

Material:	 Anodized aluminium
Sizes:	 840x950x20mm
Thickness:	 2mm

1648

10
38

840

95
0

1013

17
40

47
9

838

1648

87
3



PRODUCT SHEET

840

18
90

1648

17
12

85
6

85
6

Product | 6Indicative data sheet. Sizes depend on the PV module used.

Lateral protection for model SRML

Material:		  Anodized aluminium
Sizes:		  840x1890x20mm
Thickness:	 2mm

Reflector for model SRML

Material:	 Anodized aluminium
Sizes:	 1648x1712x20mm
Thickness:	 2mm



Installation | 1

INSTALLATION SHEET

60°

90°

Block system for PV module

Swivel joint

Wall mounting bracket 30°

Wall mounting bracket 60°

Wall mounting
bracket 60°

Central clampLateral clamp

Model SRML

Model SRMC



INSTALLATION SHEET
model SRMC
full mounting

Installation | 2

Bottom protection

Lateral protection

PV modules



Installation | 3

INSTALLATION SHEET
model SRML

Reflector

PV modules

Lateral protection



INSTALLATION SHEET
model SRML
full mounting

Installation | 4



MOUNTING SHEET
model SRMC - SRMCT

Mounting | 1

FERMO ANTICADUTA
MODULO PV

ZANCA 60°
FISSAGGIO ALLA PARETE

MORSETTI

ZANCA 60°
FISSAGGIO ALLA PARETE

MODULO PV

MODULO PV

Lg. del riflettore = 8 mm. in più della lg. del modulo PV

60°

6
0

°

60°

1000

913

8
4

8

= =
60

= =
60

==
1600

= =

= =
1660

Piatto 25x2x900

MODULO PV

Lg. del riflettore = 8 mm. in più della lg. del modulo PV

1013
= =

= =

Piatto 25x2x900

= =
60

= =
953 60

FERMO ANTICADUTA
MODULO PVZANCA 60°

FISSAGGIO ALLA PARETE

MORSETTI

ZANCA 60°
FISSAGGIO ALLA PARETE

MODULO PV

1670

1560

6
0

°

60°

60°

14
9

5

Indicative sheet, reflector sizes depend on the PV module.

Reflector Len. = + 8mm of the PV module lenght

Reflector Len. = + 8mm of the PV module lenght

Listel 25x2x900

Listel 25x2x900

PV MODULE

PV MODULE

BLOCK SYSTEM

BLOCK SYSTEM

FOR PV MODULE

FOR PV MODULE

PV MODULE

PV MODULE

CLAMPS

CLAMPS

WALL MOUNTING
BRACKET 60°

WALL MOUNTING
BRACKET 60°

WALL MOUNTING
BRACKET 60°

WALL MOUNTING
BRACKET 60°



MOUNTING SHEET
model SRMP - SRML

Mounting | 2Indicative sheet, reflector sizes depend on the PV module.

FERMO ANTICADUTA
MODULO PV

ZANCA 60°
FISSAGGIO ALLA PARETE

MORSETTI

ZANCA 90°
FISSAGGIO

ALLA PARETE

60°

3
6

8

30
°

==
60

==
60 1600

MODULO PV
MODULO PV

1000

Lg. del riflettore = 8 mm. in più della lg. del modulo PV

= =

= =
1660

812
Reflector Len. = + 8mm of the PV module lenght

PV MODULE

BLOCK SYSTEM
FOR PV MODULE

PV MODULE

CLAMPS

WALL MOUNTING
BRACKET 60°

WALL MOUNTING
BRACKET 90°

FERMO ANTICADUTA
MODULO PV

60°

90
°

30°

15
90

1000

17
9

0

MODULO PV

ZANCA 60°
FISSAGGIO ALLA PARETE

MORSETTI

ZANCA 30°
FISSAGGIO ALLA PARETE

= =
1600

= =
60

= =
60

Lg. del riflettore = 8 mm. in più della lg. del modulo PV

= =

= =
1660

Piatto 25x2x900

MODULO PV

Reflector Len. = + 8mm of the PV module lenght

Listel 25x2x900

PV MODULE

BLOCK SYSTEM
FOR PV MODULE

PV MODULE

CLAMPS

WALL MOUNTING
BRACKET 60°

WALL MOUNTING
BRACKET 30°



FERMO ANTICADUTA
MODULO PV

MORSETTI

ZANCA LATERALE / CENTRALE
FISSAGGIO ALLA PARETE

ZANCA LATERALE / CENTRALE
FISSAGGIO ALLA PARETE

MODULO PV

M
O

D
U

LO
 P

V

10
70

13
0

0

60
= =

60
= ===

980

PV MODULE

P
V

 M
O

D
U

LE

BLOCK SYSTEM
FOR PV MODULE

CLAMPS

FERMO ANTICADUTA
MODULO PV

MORSETTI

ZANCA 90°
FISSAGGIO ALLA PARETE

ZANCA 10°
FISSAGGIO ALLA PARETE

MODULO PV

M
O

D
U

LO
 PV

60

90°

10°

80°

= =
60
= =

Lg. del riflettore = 8 mm. in più della lg. del modulo PV

= =

= =
1660

8
16

10
0

0

==
1600

Reflector Len. = + 8mm of the PV module lenght

PV MODULE

BLOCK SYSTEM
FOR PV MODULE

P
V

 M
O

D
U

LE

CLAMPS

WALL MOUNTING
BRACKET 10°

WALL MOUNTING
LATERAL / CENTRAL BRACKET

WALL MOUNTING
LATERAL / CENTRAL BRACKET

WALL MOUNTING
BRACKET 90°

MOUNTING SHEET
model SRMCPA - SRMCPB

Mounting | 3Indicative sheet, reflector sizes depend on the PV module.



Mounting | 4Mounting system for PV modules with frame. Thickness modules from 30 to 40 mm.

MOUNTING SHEET
model SRMCP 

3 33

3 33

1 11



Mounting | 5

MOUNTING SHEET
model SRMCP 

Mounting system for glass-glass PV modules. Thickness modules from 6 to 14 mm.

3 33

3 33

1 11



Mounting | 6

MOUNTING SHEET
model SRMCP 

Mounting system with rear bracket for glass-glass PV modules. Thickness modules from 6 to 14 mm.

3

3 Z13

1 Z11

Z12

Z11







Solar Retrofit Sagl

Viale Verbano 7

6602 Locarno Muralto (CH)

Tel. +41 (0)91 7519641

Mobile +39 335 6971695

Fax +41 (0)91 7515221

www.solar-retrofit.ch

lanteri.e@solar-retrofit.ch

S
R

_F
AC

A
D

E 
M

O
U

N
TI

N
G

 S
YS

TE
M

S
 F

O
R

 P
V 

M
O

D
U

LE
S

_0
7/

18


